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» do-while Loop
» for Loop
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while (condition)

{
Statement (s) ; //loop-body

}

Js.m.u\.y\ﬁdlﬂ AAH\ mdﬁkﬂ\w)\_\.\;\%\mm\
el e ST S0

R EAR NI Ry PR tRRA S LR R PRCA RN VY | B

°

.
while 4alal)

/

4

ila glaall duuss 401

Gl U 5 pualaal) Al dsa )



o 5k - il slall A5 2

4 . N
while 4alal)
L & A false ) dar b pdll Jaa Ao gajall cange
DS A Jaams add Yl sl ein s A3l (.
Ainfinite loops (sas Lo laa 5 AlesY
while loop flowchart

true

boolean
expression?

statement(s)
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public class Java_WhileLoop {

public static void main(String[] args) {

intm=1,
while (m <=5){ -
System.out.printin(*m="* + m); g
m++; 3
} & = 1
System.out.println(¢*****""); m= 2
o= 3
} \ s
} m= 5
o )
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public static void main(String[] args) {
int m=0;

System.out.printin(**m=""+ m); //Loop bod

System.out.printin(*"*****");
}

t/vhile (++m <= 5) ]
Y

F

f(M++)= (++m) Jadad a3 o 13a

int m=0;

[While (M++ <= 5)

System.out.printin(**'m="" + m); //Loop bod

J

System.out.printin(*******);

/
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public static void main(String[] args) { |m= L
int m=0; m= 2
[While (++m <=5) ] - j
System.out.printin(*'m="" + m); /Loop body =
System.out.println(*******"); Badedet
} f(M++)= (++m) Jaiad a3 ol 13l
int m=0; m= 1
hile (m++ <=5) — =
ﬁ/ System.out.printin(**m=""+ m); //Loop bodyJ E :
1 kkkkikil)- m= &
@ System.out.printin( ); reees )
8
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public class Selectswitch2 {
public static void main(String[] args) {
int i=0;
while (i<=10) {
System, out.print (i+",");
++1;
}

} 0,1,2,3,4,5,6,7,8,5,10,BUILD SUCCESSFUL (total time: 0 seconds)

public class Selectswitchz ¢
public static void main(String([] args) {
int i=0;
while (1+4+<=10){

System,.out.print (i+",");
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int x = 20;
while(x > 0)
{

}

o J

10

System.out.println("x is greater than 0");
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int x = 20;
while(x > 0)
{
System.out.println("x is greater than 0");
X--;
}
Ei
int x = 20;
{
System.out.println("x is greater than 0");
}
o J
11
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public static void main(String[] args) {
int i=0;
| while (i++<=10);|
{
System.out.print(i + ", ");
}
}
} 3 [ |Empy statement after 'while'id main
!
: (Alt-Enter shows hints)
T
— @ | while (i++=10);
»__ | | : Qutput - JavaApplication2 (run)
‘w rumn:
[:D 12 , BUILD SUCCESSFEUL
o D
12
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public clags Selectswitch? { : while
public static void main(String(] args) {
int =1
while (j¢=10){

int i=l;

\Y

T
while(i¢=10){
"e \ men N .
System, out.print ("\t"+ i*j);
+41
} m 1 3 4 El & I B Y 1u
v1d Z 4 @ B 10 12 14 18 18 0
]
! 3 [ ] 12 15 18 21 24 27 30
} 4 8 1z 1 a 4 2 3z 38 40
\ 5 10 15 0 5 30 35 40 43 50
i & 1z 18 24 30 38 4z 48 54 &0
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do-while 4&ladl
@l Jlaa¥) s s do dila Layl awis do-while 4l o
Lopall laa) J dals 385wt 4dl Jixg Las «(post-test)
W A ) Jeall/Alaal) 255 (e A AT =y (condition)
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do {
statement(s) ;

}while (condition) ;
\!!H" (;) Magiia Aaly gy Ja pid) of oY
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The do-while Loop Flowchart

‘ statement(s) ‘

|

Boolean
expression?

false

15

4 do-while (1) Jt

1 rackage dowhilel; Fan

2 public class Dowhilel { e
3 public static void maim(String[] args) iz:ﬁiz
4 int i=0,sum=0; i=8isum=20

i=10&asum=30

5 do{ BUILD SUCCESSFUL (total time: 2 seconds)
[ sumt+=1i;

7 System. gut.println ("i="+i+" Ssum=""+sum) ;
i i+=2;

9 Ywhile (i<=10);
10 ]

P
(S
-
Vaun
=
A
I}
—
(=]
N

0
i sum output it=2 i<=10
o e o
2
4 6 True
6
n i=8 & sum=20 (10<=10)— true 8
10 30 True
i=10 & sum=30 (12<=10)— false
K 12 false
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package dowhilel;
puklic class Dowhilel {

[ public static void main(5tring[] args) {
int i=1;

dof

System, out.println("Ahmed");
i++;
twhile (i<=3);

Ahmed
Ahmed
Ahmad
Ahmed

| Zhmed
BUILD SUCCESSFUL (total time: 0 seconds)
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public class ForLoop {
public static volid main(String[] args) {
int num;
System. out.println("Number" +"\t\t" + "sguer");

System. out.println("-————---——-—————————— ")

for (num=1; num<=5; ++num)
System. out.println(num +"%t\t" + num*num):;

}
}

QOutput - ForLoop (run)

u> Numbexr Igquer
1 1

%| :
3 3
4 le
5 Z5

@ BUOILD SUCCESSFUL (total time: 0 seconds) /

21
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package forloopl:;
public cla=ss Forloopl d
=] public static wvold main(String[] args) {4
int a;
for (a=l;a<=20;++a){
Syvstem. out.print{a +","):

1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19, 20, BUILD SUCCESSFUL (totel time: 0 seconds)
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E import java.util.Scanner;

pubklic class ForLoopl {
=1 public =Ztatic wvoid main(String[]l arg=) {
int ar
Scanner in =new Scanner (Sy=stem. i)’
int X=in.nextInt () s
for (a=lra<==x:4++a) i
Svstem. cut.printct{a +", ")

X e Ja Yl

8, BUILD SUCCESSFUL (total time: Z seconds)
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packagese suml;
E import java.util.Scanner;

public class Suml {
[ public static wvoid main(Stringl[]l args) {

Scanner input =new Scanner (System. i) ;
int ®x = input.nextcImt () r
int ¥ = input.nextImt () 7

int i, sum=0;

for(i=xsi<=wvri++) {
if (Aiz2==0)

Sum—Sum+i ;

println("sum=""+ sSum}) ;

System. ouc.

sum—30

A il Jac Yl & gana aaday Cuay bl el ) K s
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* Like 1 f statements, loops can be nested.

* If a loop is nested, the inner loop will execute all of
its iterations for each time the outer loop executes

once.
for(int i = 0; i1 < 10; i++)
for(int j = 0; j < 10; j++)

loop statements;

25
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package for3:
public class For3 {
public static void main(String[] args) {
int i,3:
for (3=1;3<=10;++3){
System. out.printlin{) !
for (i=1;ik=10;++1)

System. out.print ("\t"+ i*j):
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public static woid main{String[] args) {
for(int i=0 ; i<=5;it++)

{

for(int =0 ; j<izj++) "

-
System. out.print {"*"); -

System. out.println(); I PR

BUILD SUCCESSFEUL

Al (8 e Juanil oMo galiall 8 Joe

*1
.

a e e
b e e

kkkkka

27

B

~
break pdadi ddas

Gdﬂﬁgg\x&ﬂ\dibt}nd&ﬁytggAUJA\JL&AJﬁiﬂexﬁhﬁ0
package breakl; PN
public clasz Breakl {

public static void main(5tring[] args) {
int i,sum=0;
for(i=0;i¢=10;i=i42){ sum=0
e . Sumr=z
sum=sum+i; aum=g
System. out.println("sum="+ sum); sum=12
sur=2Z0
sur=30
System.out.println({"break in java"): break in Java

14

28
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package breakl;
public class Breakl {
public static void main(String[] args) {
int i, sum=0;

o o gum={
for(i=0;i<=10;i=i+2){
. sumE2
FUm=sum+i ;
if (sum >10)break: Jum=6
System. cuc.println("sun="+ sum): break in Java

}
System.out.println{"break in java"):

h k .QE 4 \
reak akdl dlaa
1 package continuel; YT e ¢
2 pukblic class Continmel {
3 = public static wvold main(String[] args) {
4 double a,=s=0;
5 int m,n=7;
[ for(a=l;a<=n;a+=0.5)1
7 if(a==2.5)1{
g s+=n;
g break:
10 }
11 el=e
12 3+=a;
13 H
14 Syscem. gur.println("s-——->>"4+3) ;
15 - }
16
17 H

s————>x11.5

%

30
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public static void main(String[] args) {
double a,s=0;
int m,n=7;

for (a=l;a<=n;a+=0.5) {
if(a==2.5){

public class Continuel {

s+=n;
System.our.println("SI-- ->>Tta) ;2
continue;
}
else
s+=a;
}
System.ouc.println("S-—-—->>"+s3) ;
}
¥ §I----»¥11.5
@ §----756.5 )
31
//Ppublic class break Ex | \\

public static void main(String[] args) {

for(int i=0; i<=10; i++)

{
if (i==5)break;
System. out.print (i +" "y ;
b
} ;‘ 1 2 2 4 BUILD SUCCESSFUL (total time: 0 seconds) |

fcontinue J) i) Aaxy break Adas Jlagial tie gl ) zil La
public class break Ex {

public static void main(String[] args) {

for(int i=0; i<=10; i++)

{
if (i==5) continue;
System. out.print (i +" "y
i
I
} p—
@ a 1 z 3 4 & 7 8 3 10 BUILD SUCCESSFUL (total time: O zeccndajl
N ~/

32
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B /** Rauthor Nahed *=*
B import java.util.Scanner;
r  public class WhileExm {
= public static void main(String([] args) {
Scanner in=new Scanner (System.in);
int grd, sum=0,std no=0;
float Avg;
while (std_no<5)
{
System. out.print (" p3; o llkill is)s (53 "y
System.out.println(std no+l);
grd=in.nextInt();
sum+t+=grd;
std no++;
}
system.out.println( "sum=" +'\t' + sum +'\t' + "std_no=" +'\t" o+ std no)j;
System.:ut.println("f—_: Lay dadhll Olo>)y hagier " + (Avq:sum/std_no));
- }
-}
33
)3 run:
[l 1 ady edibdl ey Jsol
-] 30
gz 2 iy odlbdl dzys Jeof
40
3 @ ady odibldl Izye Jsa
50
4 ady ol Izye Js
30
5 ) odlbdl dxys Jaai
50
sum= 200 std no= 56
40.0 gylesy dadbdl Sleys basio

34
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while (std_no<5)
{
System.out.print (" =

) wllhkl dxya JFals M);

System.out.println(std no+l);
grd=in.nextInt();
if (grd==-1)
{
System.out.println("ils s, i ilFaall daazllM);
break;
}
sum+t=grd;
std_not++;
!
System.out.println( "sum=" +'\t' + sum +'\t' + "std no=" +'\t' + std no);
System.out.println("sylus L lbll Slejo bwgier " o+ (Avg=5um/std_no)>;

35

u> run:
W1 sy cow ey gssi
30
2 1 ady odlbdl dzys JAoi
40
3 1 ady odlbdl dzys JAoi
-1
Llgudo s ddBundy Lagdly
sum= 70 std no= 2
35.0 rgsluy dadbll Olzse bwsie
BUILD SUCCESSFUL (total time: 14 seconds)

36
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(-1) 4
while (std _no<5)
{
System.out.print (" s, wllbll a>). dsal: my;
System.out.println(std_no+l);
grd=in.nextInt () ;
if (grd==-1)
{
System.out.println("il,is pue AlFaall d.aall");
continue;
}
sum+=grd;
std_no++;
}
System. out.println( "sum=" +'\t' + sum +'\t' + "std no=" +'\t' + std no);
System. out.println (s lu. ikl Slejs bkegie: "+ (Avg=sum/std no));
o J

37

run:
1 :

30

2 :

40

3 :

) olthll dzga Jsoi
ad) el Imye Jsoi

) olthll dzga Jsoi

(-1

L

~\

Iguie s Lliaad) Lea il
3 :

ady wdlbhdl izya Jsoi

50

4

) el Imys JSoi

(-1

\

~N

Iguio s Llsaadl Laail
4 -

ady olthll dzga Jsoi

J
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for(int x = 10; x < 20; x = x+1) {
5| System.out.print("value of x : " + x);
System.out.print("\n");
|
mt x = 1U; value of x : 10
) while(x<20) { vaiue ogx: 11
3 System.out.print("value of x : " + x); VAU oXi 2
B X++; value of x : 14
System.out.print("\n"); value of x : 15
N— ! value of x : 16
value of x : 17
int x= 10: value of x : 18
(T g value of x : 19
2 | dof
”§| System.out.print("value of x : " + x);
] X++;
- System.out.print("\n");
© while(x<20); )
39
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